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QUESTION 1

What is the difference between crash consistent and application consistent cloning methods? 

A. Application-consistent clones allow the pending 10 operations to finish before committing them to the database. 

B. Both methods are the same; the only difference is speed of cloning. 

C. Crash consistent method should be used only for the virtual machines with Fault Tolerance enabled. 

D. Application consistent method is available only for Linux operating systems. 

Correct Answer: A 

 

QUESTION 2

Which HPE SimpliVity model can be equipped with the HPE mniStack Accelerator card? 

A. HPE SimpliVity 380 Genl0 

B. HPE SimpliVity 2600 

C. HPE SimpliVity 380 Gen10 H 

D. HPE SimpliVity 325 Gen10 

Correct Answer: A 

 

QUESTION 3

In an HPE SimpliVity 10-node cluster, a simultaneous increase of 10 requests across several VM caused a surge in 10
traffic in a single node. Which HPE SimpliVity feature can evenly distribute the 10s across the cluster? 

A. Resource Balancer 

B. Management Virtual Appliance 

C. Arbiter 

D. Intelligent Workload optimizer 

Correct Answer: C 

 

QUESTION 4

A customer plans to add HPE SimpliVity 380 Gen10 H SFF nodes to their remote site. The primary site is running HPE
SimpliVity 380 Gen10 hardware accelerated nodes. Which recommendation should be applied for this design? 

A. Create a new cluster and split Doth types of nodes equally between both clusters, 
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B. Add new nodes to the existing cluster 

C. Configure the HPE SimpliVity 380 Gen 10 H SFF with a hardware accelerator card. 

D. Create a new cluster with SimpliVity 380 Gen10 H SFF nodes. 

Correct Answer: C 

 

QUESTION 5

A customer wants to provide access to the HPE SimpliVity datastores for compute nodes running CPU-intensive virtual
machines. What should you tell the customer? 

A. It is supported to connect up to 5 compute nodes per SimpliVity node. 

B. Additional license is required to connect ESXi nodes to SimpliVity datastores. 

C. Connecting ESXi compute nodes is possible only when VMFS datastores are configured at SimpliVity Federation
level 

D. Compute nodes must reside in the same cluster as HPE SimpliVity nodes. 

Correct Answer: B 
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